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2L A 94.6 BERE 93.6 1,944 1,296 864 13 A LL
ZLZ\CA BE K 1.0 — 2,160 - 10 Va9
IZALCA 11.9 5 & 3.0 2,808 2,376 2,160 10 vay L
IZALCA E & 2.1 2,916 — 2,700 10 vay M
ZIES5 2.1 5 & 1.7 2,484 — 2,430 0] A S
[E<ELY 193.1 ERE 193.1 1,728 1,188 1,188 15[ A 6
HTE 1.8 il 1.3 5,400 4,320 3,888 4l A L
ZEDH 6.8 2 35 2,160 2,160 1,944 4 A L
TRy 155.1 BERE 92.1 2,376 2,376 2,268 10 A 8
Fry = I 55.7 2,700 — 2,376 0] A 8
IE5NAZES 2.9 2 [ 1.2 5,184 3,726 3,240 6] A L
hE 10.9 BERE 4.7 - 1,944 — 3 M
_hE 1.1 = B 0.6 9,720 — 3,240 3 M
LAl 0.6 BERE 0.2 3,888 — 2,700 4l A
1Z5 2.2 =0 15 5,940 5,940 3,780 5[ vay
L) — 0.2 E % 0.2 5,940 — 3,780 10 A S
FARINTGHR 0.2 AL O 0.2 173 — 162 0.1 A
HhI757— 1.1 B X 1.1 - 1,512 - 5] A 6
JOyal)— 16.6 BRE 5.5 1,296 — 1,037 4f A 12
LAR 65.4 £ & 53.7 2,484 2,160 1,944 0] A 12
LAR 2 [ 7.7 2,376 1,944 1,728 4l A L
FoTHA 1.4 BRE 0.5 2,376 2376 1,944 4f A M
=Y 13.4 BRE 6.9 4,320 3,780 3,780 5/ A L
=p5Y N 5.0 4,158 — 3,888 5] vay M
ANESSES) 7.3 JtiEE 6.8 2,700 2,376 2,160 10 vay 8
Al 5.1 N 46 — 2,160 — 5] vay 3L
k2 12.9 E X 8.1 - 2,700 - 4 L
I=kTh 7.2 BRE 5.5 194 151 130 02 A M
E—<> 6.3 BERE 48 - 5,238 - 0] A LM
[2H5Y 1.2
SPVAITFA 2.6 BRE 2.6 1,728 1,512 1,458 2l A
SPZAES 0.4 E X 0.2 - 4,752 - 2l A
MrAL& 8.7 BRE 8.1 2,160 1,836 1,512 5/ A M
[E€ AT 64.6 JtiEE 64.6 1,728 - 1,512 0] A LL
[ECTRYNS JtiEE 1,836 1,620 1,080 0] A L
=L 0.9 BRE 0.7 2,700 - 2376 0] A LL
hLE 11.5 JtiEE 11.4 — 2,700 — 10 C LL
=FhE 77.6 JtiEE 77.6 3,240 2,808 2,592 200 A La4
f=Fh&E JtiEE - 1,318 - 10 L4 (
ELLV=T 1.7 BRE 0.2 — 119 — 0.1 M
ELLV=IT =I5 0.9 140 — 119 0.1 A L
ZDEET 6.7 £ B 3.7 49 40 38 0.1 A
ZDELET =I5 1.5 59 45 40 0.1 A
LoHL 44 2 [ 3.2 108 78 78 0.2
ESES T 808.4
B=
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BMAHMAEE 19.7
A B M 19.7 EES 13.6 3,024 2,160 1,620 10 L
AR M B X 4,320 2,700 2,376 10 M
A B M B X 3,996 3,888 3,240 10 S
BAEM BRE 3.2 2,160 — 1,728 10{ 7hv2 L
B4R BRE 3,240 — 2,160 10{ 7hv2 M
BAEM BRE 3,564 3,240 2,700 10{ 7hv2 S
LEY 0.7 F 0.2 8,640 — 8,100 17 115
INLULT 1.0 = M 1.0 8,208 5,400 5,400 17 88
L7y 0.2 = M 0.2 6,480 — 6,264 15 48
HmoHhrAED 0.1 A= - 270 — 0.4
YATE 12.6
oaF3)Lk 1.7 = F 0.1 6,480 6,264 6,048 10|  nf
AL 4.4 E % 25 6,048 — 5,616 10| M2 32
ZFDYAZ 6.3 5 & 45 6,480 5,832 5,400 10] Y1 A 32
HA%ZLE 0.2
DAL 0.2 X & 0.2 — 3,024 — 5 10
FEEAL 0.8 L # 0.8 2,376 — 1,620 5] vay 10
WEET 28.1
=21 14.6 2 [ 14.6 1,296 972 972 51 C L
RER 0.1 Z 40 0.1 - 4,320 — 10 <
FE 9.5 8 3.4 3,888 — 3,240 75| vay LL
ZToMEAE 0.4 2 [ 0.4 1,944 — 1,836 5/ A 3L
ZTDHMEME 3.2 E 1B 2.7 — 4860 — 10{ 7hv2 3L
SESE 1.8
= 0.2 E % 0.2 — 756 — 0.35 LL
AOVEF 1.5
7—ILR 1.2 EES 0.8 - 6,156 — 8l 7v LL
ZFDAOY 0.3 K B 0.1 - 5,616 — 8| 74va 4L
FULIEE
ERRY
INFT 11.8 EYEY 11.8 4536 3,726 3,283 15
INMFyTIL 1.9 EYEY 1.9 4,104 2916 2916 10 6
FoL4)ILY 3.4 & B 14 1,620 1,404 1,296 36| van 27
REWET 84.6




